A PA LN
[OREDN  p036345 7 10/890
' N d % L)
No. 3 €9 MR (2% BBUERD | 55
&%27%0325% 118
[CESHER H 5 A 3
NEHE(X)BE B
BEed m B
K& XITE 5 RS EHE nmﬁu BEBBRED FREISE1H10H (1)
HFNRBAS FhiRART
R RIEA RSP ETHI8E3TS =) TH15% 10150 {28
(AATEBE A4 210 x 29730 4-F8)
1 IF [
1 R (=
”~— L ~h? 3
zﬁg*i%**it‘%?if'/*'ll\'ﬂ-f ;fi]_iia 275;'EEE LB ~ # & ] 1,73 ]
: _ ' B B E R U
Tt WX 1E = 2% Ik 3ZGE _ . 1 P
i85 A B 54 # *ﬁﬁﬁ%‘”%ﬁx —z
A SR 1 R BABRIHE =T E30E175 O I
2 iz ~
% 1 BA
@ EA (@ Hkan 2 BRaH 3 Z0ft ( ) )
BT (hEHF) hEEF
E & X X & % et m F T
JIAF (HEAF) A VORSES SHRER AT
. - T 768—8501
77 X133 I5 P 2 4 ENRBESHRARNETH 188378
TUHF (BEHF)
BE® X% %
SUAF (HEAF)
B R LA SR
£EAH &£ B Bl (FUAF
@X 1 BAEG 3 BB M
A 2 XE 4 ERL
Bo% O R
BUZAR 31 & 9 B 1 8] (OUFH AFEOIAVAR | REEEE
- RESEESR | M BN RGEE7E
A
ERHE AREROMEER, AEKEROER. XEASOKE
BBELOARE] BIRBSSHRANETEISEIE
RU BN E Z R M b B BEHE 5 ) & &
KEEEER 0875 (56) 1131
3 REAM (M)

WREPESL NICHBERFICBA TS0, MIREHHE L TI@LV-LELE,

%_

S#X (1)




E—EHX (2)

A -3 1))

25— p 2751 lﬁ/%gl 2.3 ]
e NREAmO S N

4 FEERHEORARSEZIONIR (F)

B % w5

NEOVBEIBFFX | 2120BEIW/E 1= | 020N EEZE
73 # 480 ¥ ¥ 3
¥ OB 5 % OE G OE| A ¥ H 3
¥ % 31 * & i 5 B #® f #*
= & # & #c #% S J #
R EE R D # K %
HERBMETEAN - 9594 E L
¥ % B OB O s
B % B OE FE O L #|F M
R FH M AL % 188 # &g N
& & 0 480  #| P 0  #|o0 0
= - Y - =
Ei%gghﬁjfég#b;a?é " 0 RO ARSE B 0 o
RERE S ON (B ®)[sS (51 AI0BRE)
(0 + P + @ — R ) 480 LEREEOD %
A e BEERERS 4.02
0 (/ (T+U) X100)
(A+BACAD+E+F+G+H+ 1+ J+K+L +M+N) L EE IS 5 03 %
ENEBKESEREDS '
5 MEMEZORXTEORTT IHAFISHT IBFOEMOREXIZNSORE ()
£ A B ® % F o0 # 5 B BBXRERS 03| & &
FRI551A9H # =% 100 X 1 B/ @ 15| 520 820
ER15E1 108 P 20 X 1 @ @ &% | 531,000
X 1 W@ 2 By
X 1 RA/ 2 M5
X 1 R/ 2 oy
X 1 D@ 2 By
¥ 1 BE 2 Ase
¥ 1 B\ 2 4n
¥ 1 B#" 2 oy
¥ 1 m® 2 My
¥ 1 Bm#E 2 oe
X 1 B/ 2 &y
X 1| K@ 2 L%
X 1 D&/ 2 By
X 1 B/ 2 ny
X1 MB/ 2 nH
X 1 B/ 2 Ay
¥ 1 BB 2 4y
X 1 2
%.—

SHRX (2)




it 3 — 2751 L ~ & =’ | 3.3
paeaoll Hten m b o
7 S ZOIWEES UL

-] <8 : ‘0) =
BEC&E® (FMA)R 160, 000. 000 EAZBEH (FAH)S
Toi (Bs)

TOMEHE (FA| T

H B & £ & &
(R+S+T) (FR) 160. 000, 000

2 PIZE

¥ (2 U H + X (2037 )% 8 A % 2§

g = BW (XER) X B InxEsr4 B = Hh B (F3)

1 ¥ 1 2

2 ><//2

3 /X 12

4 ¥ 1 2

5 " % 1 2

6 / % 1 2

7 ¥ 1 2

8 / X 1 2

9 / X 1 2

10 ¥ o1 2

#F—-S#X (3)




